int start()

{

¥

int limit = Bars - IndicatorCounted(); ¢———— (1)

if(Bars < Highest_Period || Bars < Lowest_Period)

t 2)

return(0);

b
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for(int i = limit - 1; i >= 0; i--)

{
Real_Body[i] = MathAbs(Open[i] - Close[i]),; ¢———— )7

if(Real_Body[i] == 0) < (3)
{
Real_Body[i] = Real_Body[i] + Adjusted_Point; ’(
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for(i = limit - 1; i >= 0; i--)

{
Upper_Shadowli] = MathMin(High[i] - Open[i],High[i] - Close[i]); <+ (4)
b
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for(i = limit- 1; i >=0; i--)

Lower_Shadow[i] = MathMin(Open[i] - Low[i],Close[i] - Low[i]); <+ (5)

b

[/ REDRE
for(i = limit - 1; i >= 0; i--)

{
// EEHIDEE
if(Real_Body[i] * Magnification <= Lower_Shadow[i] && Minimum_Length * Adjusted_Point <= Lower_Shadow[i] &&
Lowl[i] < Low[iLowest(NULL,0,MODE_LOW,Lowest_Period,i+1)])
{
Arrow_Upli] = Low[i] - Adjusted_Point;
}

/I TRENDEE
if(Real_Body[i] * Magnification <= Upper_Shadow[i] && Minimum_Length * Adjusted_Point <= Upper_Shadow[i] &&
High[i] > High[iHighest(NULL,0,MODE_HIGH,Highest_Period,i+1)])

Arrow_Downl[i] = High[i] + Adjusted_Point;
b
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return(0);
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